Zo17k 30em A §48A4o] Uk, o] Ao BAL IR W), §
58422] Zol7} 60em 7+ B W7 AL 6g 5 otk o]}
3em 4 Soldth. xg o B8 e ]9 §58422] ZolE yem
o & o, x, y Aol o] BANS FohE?

@y:0.5x+30 @ y=x+30 ® y=3x+30

@ y=0.5x+60 ® y=3x+60




FE7F13% 1 AF=Eol & o ¥l 9% 9 dg=s W
T 13% 7 A9 F& E
A Alglt. o] Ao ghe 220

13 9

== 13x =
? 11030x 180y ? f?): 9(x+ys)9
@ @x—k@y:x—}-y @ mvay:l—Oo(x—ky)
D06* = 100"+

13

100"~ 100" )




y=-2x+b+3=ax+10R2
a=-2,b=-
kA q + b = 4]t}







AL A 8x -4y +12 = 0 9] 12| =} Hahgt U2}ty = ax+ b

o] g} x— 4y+3—0_41a]u94.x4( k) 14 T E]'_T’_;]-E}-‘
TS 2 ARG y = ax + b ©] T o] 9l Fo] Fr9
@ (0, -3) @ (1, 3) @(6, 4)

@ (-2, 6) ® (3, -1)

gL \
Sx—4y+12 = 0 = WASHH y — 2x + 3 0|71, o] Tefmo}
%1}%¢y—ax+b7}x1§:gogo}giazzo]q_

A (5 k) Ex—4y+3 =090 YOBE k=20]T,y = ax+b
o TP A (5, 2) S AUBR 2=2x5+b, b= -8 o[tk
ety =ax+b =y =2x—-8 0|BZ o] T Ix 9o Q=
A2 (6, 4) oIt




Pt go] 7129 Ao|7F30em , Al22] 4
o7} 20em 1 242 ABCD 7} itk M P

7]_ CE =4y}

= Z9sto] tjx 2cm @) £ 02 BC
£ mtebA] B7HA] 2191kl 61, AABP 9

wol7 100 cm? 7F He A2
SN A H 2 FAP

b
o

@ 6
® 12

BN

S
T

® e
S
!
-lOll

N
o

8

= A2 dPHHCE

1
20cm|
\

_--30cm- _ _

-

it
o

x% & AABP 9] Y o]E ycm? 2t olH
v = 10(30 = 2x) = 300 — 20x(0 < x < 15)
100 = 300 — 20x, x = 10

=10

B
40]1

7




=a 9 @Y

A g ), 2

=
e

g2 o

ax+ 4

y:

1
3

@ 1

ax—+47}

y:

Fol A,

oA
(£) el = 4] LA, 1) & Ak Z-$olc,

8

—%x+2ﬂ"—l
(W)y=x-2%

(My=

3

bz




A 2x—y+5=0 7 13

K

ol ‘].

L y=2x+5

ul
KO

y=2x+5 ¢ 2t}

[e]
—

2x-y+5=0




x+ay=2 _ _
A { o 7k 255l we W, a b O B

it

iy

v VvV v Vv
0x
L
Q
I

37t B8] e 2 T FMo] Y|k stm
1 a 2

= =27

il (=)




i

a1
5%

il

o

xr

50L <]

w2

10.

T
=

Q

nttt 7155 0.5L
o] & yL gt

=]

jLE

stofzt.

=

3
=i
S

q_

L)
.

o] 7]

Y

o

[e)

e

[e)

=l

32L

.

ul

A A

ol

el

)
FoRs

y =50 -0.1x (0 < x < 500) °]c}.
y=50-0.1x180 = 32

32L gE=th




11.

& % 2 nIE Hole] Je st BT A mT Sehet

?/“4
2
2 4
-4 -2 0 )
-2
—4
H7]
1
@y:§x—1 ©y=-2x+5
1
®y=2x-5 ®y=-5x+3
1 1
:2 —_—— = -
@y X 3 ® y 2x+3

B7lol a#izE= (2, 0), (0, —4) & AYHER /&

o e 4
(xo] HSEF) -2

mEbA E2 7]1&717 2 Q0 y = 2x—5,y:2x—% ot}

— 20},

1=




12. oh2 T4 Y] adflae xdHo] b, ydHo] 40]t} ol w, a+b
o] gh= Fstoiet

ax+2(a+2)y-8=0

B )

yAHol 40|82 (0, 4) 5 ax+2(a+2)y -8 = 0] Y5t

2(a+2)4-8=0°]E& g=-10°|t}.
O] po|BZ (b, 0) 5 —x+2y-8 =0 HYSHH -b-8 =
0, b = -8o]t}.

W24 4+ b = ~90]c.




13.

A ax4y+b =02 I oh-2
O A1 m} Bagst, A4 ni} x5

=3
oA ghdtt, ofmf, ab O] L& Fotolet.

B

AR me] 7]1L7)= —10]1, no] x WL 40|22

FH LA ALy = x4 40l
y= —ax-bO|BE a=1,b= -4
webd ab — —olc




14. M A x-2y=4,3x+4y=2,2x+ay+7=0 2 WH| (x,y)
2 W, x+y+a 2 gh= F5tof=h

> E.

> =g 12

B )

—oy=4

e 2 Agshd x =2,y = -1 |t}
3x+4y=2

x=2,y=-122x+ay+7=0° HYsH

4—a+7=009]1, a=11 °Jch.

2t x +y+a=2+ (1) + 11 = 12 o]},




15. AdAB AN x-y+4 =02 0, o0& =<
9 ghk& F-stolet.(m > 0)

2

I
o
rr

(7hH A D 9 x FEE —m, 0OCDA ¢] §ol= § g1
(1) A0BA 2] YWol7} nOCDA ¢] Ho]2] 2 Hfjo]tt,

o
&

yA
BV
C(0,2)
D
/A 0 z
> =
> FHe: 4

B

A(-4,0),B(0,4) 0] B &

S = AOBA - ABCD
1

1
:§x4x4——x2><m

=8-m
28 =8, 2(8—-m) =8
m=4




